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/* BEHIFIFAEER days.c JAVNEEE */

#include <stdio.h>

A DERIIL.

/> 150 R, EBSldaysDERE =/ g

#define MONTHS 12 BHE.IIAEELI:
EHTEHEZD,

int main()

{

double days[MONTHS]; /* £RADBE% */
/* days[i] : (i+1)BDBE% >/

int month ; /* AASNE=ADES (1~12)*/
/> (month-1) &5 days DRAFITHES */

/> #w< >/
5
/* e~/ = !
- AD&ESEBEHD
days[0] = 31; /* LA A% */ E2 =8 1T
dayS[l] = 28; /* Zﬁo)Eﬁ */ L\é:&‘:;}%o

days[2] = 31; /* 3AMB% */
days[3] = 30; /* 4D B% */
days[4] = 31; /* 5A DB */
days[5] = 30; /* 6HDB% */
days[6] = 31; /* 7THDB% */
days[7] = 31; /* 8AMB% */
days[8] = 30; /* 9R DB */
days[9] = 31; /* 10A D BE# */
days[10] = 30; /* 11A D BE# */

days[11] = 31; /* 12A D BE# */ _
BLSI D RZFIIE,

printf("fT A D B# ? (1~12) :¥n"); THEFE-T-E S

scanf(*%d", &month); ié:&%f%éo

printf("%d A @ B#IZ. ", month);
printf("%dH TY, ¥n", days[month-1] );

return O;
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nfE
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BROT—HE BEINKZ[TOERKIIIDOERK];

Bl | gdefine  TATE 5
#define YOKO 3
double M[TATE][YOKO];
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double mM[TATE][YOKO];
5l
m[0][0] | m[O][1] m[O][]
m[1][0] | m[1][1] m[1]1[j]
ifT | mlil[0] | mil[ m[il[j]

m[TATE-1][YOKO-1]

J09 5 L4512 2RITENMNFIADEE)

/> tenchi.c

*/

int main()

{

/* #i >/

2RTECSIEER (BREITH)

aAVRERE

#include <stdio.h>
#define GYO 2 /* AAShBTHDITDE */
#define RETU 2 /* AASNBITHDHDE */

/> BIDEE */
doulbe x[GYO][RETU];
double tx[RETU][GYO];

/= AAESNI=ATHN>/
/*EREITHI*/
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/* & */

/* THDERDAS >/
printf("x[0][0]?");
scanf("%olf", &x[0][0]);
printf("x[0][1]?");
scanf("%lf", &x[O0][1]);
printf("x[1][0]?");
scanf("%lf", &x[1][0]);
printf("x[1][1]?");
scanf("%lf", &x[1]1[1]);

/* EETIDFE */
tx[0][0] = x[O][O];
tx[0][1] = x[1][O];
tx[1][0] = x[O][1];
tx[1][1] = x[1][1];

/* #ia >/
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/* & */

/* ANENFATHE, EDEREITIIDRT™/
printf("x¥n");

printf("%66.2f %6.2f ¥n", x[0][0], x[O1[1]);
printf("%66.2f %6.2f ¥n", x[1][0], x[1]1[1]);

printf("xDERE 1TFI¥Nn");
printf("%06.2f %6.2f ¥n", tx[O][0], tx[O]1[1]);
printf("%06.2f %6.2f ¥n", tx[1][0], tx[1]1[1]);

return O;
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#define TATE 5
#Hdefine YOKO 4
#define OKU 3

double cube[TATE][YOKO][OKU];

(EAAVA\V

25 & RFE1[RF2][AF3]
TEBROEHDLSI2OMZ D,
o, FRTICIE ERBD)
EHORXBER D,
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cube[O][3][2]

cube[0][0][0]

\cu be[4]1[3]1[2]

cube[2][1][0]
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EHDER REOFMR | T—28 | EROERRHGI
HIEEH B int 123
0

ii@]/l\’!ﬂ,ﬁ%ﬂl double 12.34

(=) 1.0e-5

0.0

XFEH 1XF char 'a’
'

XF 5 char* "abc"

"Hello¥n"

15

Ja455L(J—Ra2—K)ATH
XFEHMDERE

(1X= : char #)
S WA —R T A L5
BENT-. 1N+ XF
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(XF3 : char* &)
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FEhte. “Hello¥n*
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printf XX IZ kA5 XFEDED T
printf("CAIZBIE %s AL, ¥n", name);
XFHNEZER N (TARTLNICE AT ES54TSVEH

iR printfSXOXFEINRND HEHRIF]
BADZEHIZETHHENIERERDT

« XFF|

%s char*® DX F5|% KT«

%6s XFEIERTR, VEEL6XFIETERT
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scanfXIZ &5 XFE DIEDETAA A
scanf("%127s", name);
BEAN (F—AR—R) Do ERICEERARALTMTTEK

Tt scanfXDXFIIAD NEHRXE |
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{

/* XFEFIAHHEE echo_name.c TAVEE  */
#include <stdio.h>

/* EESlnameDEZXRE >/
#define NAMESIZE 128

int main()

char name[NAMESIZE]; /* AASINF=LRI(127/31NET) Z4EH */
printf("HiE =D A AL ? ¥n™);

scanf(*%127s", name);
printf("CAIZB I, %sTA, ¥n"', name);

return O;
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/*
B : yyyy/mm/dd
YERE - AHEKER
FEES :BOOBOXX
YJ—RXT7A4JL:determinant.c
F1T7I74 )L determinant

B2 x 2175 DITHIRESHE T HTOT T 4,

AN BEADDLTIDADDEAEANT B,
TIDEAFETEEDOERIELT B,
RCITOERMNEHRLTANSNDET B,

HABREHAICADSIETIDOTIXDEZHE DTS,
THXDEIEBETHY . MR UT2HETH AT S

*/

/> < >/
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/> frE >/
#include <stdio.h>

/*ROOFE>/
#define SIZE 2 /* {T5IDORIT */

int main()

/> B BIDEE */
double matrix[SIZE][SIZE];

/* AhSht=1751 */
double det; /* fTHImatrixD 175X DIE >/

/* i< */
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/* & */

/* THDERITD AR/
printf("matrix[0][0]?");
scanf("%lf", &matrix[0][0]);
printf("matrix[0][1]?");
scanf("%lf", &matrix[0][1]);
printf("matrix[1][0]?");
scanf("%lf", &matrix[1][0]);
printf("matrix[1][1]?");
scanf("%lf", &matrix[1][1]);

/* i< */

25

/* & >/

/*fTHXDEE>/
det = matrix[O][0]*matrix[1][1]
- matrix[0][1]*matrix[1][O];

printf("1751 matrix :¥n");
printf("%6.2f %6.2f ¥n",
matrix[0][0], matrix[O][1]);
printf("%6.2f %6.2f ¥n",
matrix[1][0], matrix[1][1]);
printf("DTHIX DIEIL. ¥n");
printf("%06.2f TY . ¥n", det);

return O;

26




2010FERTAT ST EBEN

055 L5140

RITHER

$./determinant
matrix[0][0]?1.0
matrix[0][1]?2.0
matrix[1][0]?3.0
matrix[1][1]?4.0
175 matrix :
1.00 2.00
3.00 4.00
DITHXDIEIR
-2.00TY,
$
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